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Population movement in Australia
There are three main types of population movement:

· Rural-urban migration - movement of people from farming areas and small towns to larger towns and cities
· Interstate migration - migration from one state or territory to another

· Intrastate migration - movement of people within a particular area, i.e. within a particular state/territory or within a particular city
· Overseas migration - movement of people from one country to another.
One way to show population movements is to use a flow map. Flow maps are a useful tool because they show the numbers of people moving from place to place and the direction of that movement. Here is an example of a flow map which has not yet been fully completed.
INTERSTATE MIGRATION FLOWS, 2004-2005
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There are five spaces where arrows are missing on this flow map. Can you see them?
TASKS
TASK 1:
The table below shows the state or territory where people have moved from (along the top) with the state or territory they have moved to (down the left hand side). 
INTERSTATE MIGRATION FLOWS, 2004-2005
[image: image2.png]State or Teritory of Departure

NSW o VIC QD SA WA TS N ACT Toul
arls

W mss um sm sm o 2w 04 e
ve um __ um 1m m om a4 e
QD MW mn T4 TTH 36T 8SR S@0 isE
S s Tw em __ um s 28 m ums
WA s e w0 w10 258w we
ms O W W W % W NS
N s s mm 2@ %W a1 6w
R T
Toul M0 B B M s
s

OO ORRE





Use the five highlighted numbers and other information in the table to answer the following:
1.    In 2004-2005, 34 288 people moved from QLD to NSW.  TRUE or FALSE
2.    24 878 people moved from NSW. Which state did they move to?  ________
3.    How many people moved from NSW to QLD?  ________
4.    5 552 people moved to QLD. Where did they come from?  ________
5.    One number is left over. Use it to complete this sentence.

       There were __________ people who moved from ________ to ________.
TASK 2:

The five arrows below represent different sized flows of people. Match each of the arrows with the states and territories listed.
You can do this by:

· clicking and dragging the arrow into the box beside one of the descriptions

· copying and pasting the shape.

	More than

50 001 people
	30 000 – 
50 001
	10 000 – 

30 001
	5 001 – 

10 000
	0 – 

5 000
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	Population movement
	Arrow  representing size of the movement

	QLD to NSW

	

	NSW to VIC

	

	NSW to QLD

	

	NT to QLD

	

	SA to WA


	


These flows determine whether a state or territory increases or decreases in population.

On the table there are three circles with question marks. Use data from the table to calculate the net gain or net loss in population for:
· NSW   _________
· QLD    _________
· WA     _________
Print your completed pages or save a copy of it to your desktop.
